gem}mheﬁasg. © 15 O

Geometn : h = Lz’Lﬂ:z"“%)z"’%-sz -2 (‘JZ:)Z“‘!L5Z:

Evernsatsen 1 AE=0 |, =T+ A = Q40 ~7,62 = 228w~
Ei = W\%}l :{ Yh%, (Q‘R%l‘ﬂ10°> ). - gﬂeﬂ@;%&)&@v\ g AE =0
E,= Ly Ev= Mgt | E,=mgh | £,-E =
- e Mgt = ' =HM- 2y
%V{V‘2=}’(%R(1;EU£°>S Bl =g B nM’,z.za%’?’,ﬁZ'%%’
0,658 ' f
— — \, Py 7 < i L3 i, 2
vi= 29 R 0658 | #=V2.98).2.5 0,658 =5 Pmfa ad hander ¢ Statisle [Emuilct
=
2 ‘ LN /v‘gzmg,
\8 _ S o
NI :(4) N-mg = m= : ,
(4 %' R . M (f) Zw%smo( =M/%{5 %thb(<§ )
: - B2 B3N - [p . m
N = W (%+E )- 35 (9'81‘*:2‘—5 ) = M%, SIVy R = 2?5/512 = 057 iok =f5\{'7_0
)
= 98N (> 2amy) O | T . |
A 35,8 = 292w £ 3.6 n
=
- 2,5m i




Y

.0\_;_
4) EA = M%'QL W(‘l"()
E, =12 -o
T8 =+ Repet E,=E. =>
ospént
m S lx [T N

L 7 kb= M%'Q‘\L‘ )

=0 N L
oo C—f OmnivA L 18 “@/""‘

MO\x\Ac\sb'ﬁ\/\e/ﬁ 7 Kollo, wminx &r T
Em&n%igoﬁ:&@m A— X E,=E,

mall = T+ mg (L-x)+ L Ly?
ML = Tt mg (oot ki
E, Ex

dix

) dx

1.

¥ = vvua_([;l—)() — % l(XZ

I

O = ¥

I

VV\%,-‘(X =0 ,) X:ﬁ%’:_/}%g H.5 v .

k —
dmé, T kx (1) dvs wax T 1 statichka
mMg- fmu. (.E\V%?/f:
e — _1
AISG Ty =gme® = 750 (18+4.8) ~ L 161 -f1.5).
-~ 7 A~ ~",
_— 16880 1691
= i , 2L
Sy & 118 = =g 518 = 24z

Vs =293 = 20m/c = P2/l max hast
=

5 Lot

fur trodet shall repet varnm oun
det & av- vanligh gumimi madenal ?

AF
CGummic £~ LHPa
k X
1 Y

_ . F X

A Hvarsnibte oree

Overkurs -

Hoole's (g

L

e —

I

EA kL. 1621 -
bve k=T 5 A== = g./o%”i"og"”z

Diameter o 2.5 can
= +



